Embedded Systems / Model-Based Design

Written exam – February 26th 2011

Q1.

Verify if there is any refinement (or abstraction) relation between the state machine A and B or between A and C. Provide proof of reasoning.
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Q2.
Define the result of the composition and find a testing sequence for the following set of communicating state machines.
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Q3.

Provide a C-code implementation for the following statechart.
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Q4.

Provide the OIL declarations and the skeleton C-code initialization for a program using three periodic tasks, one with period 50ms and low priority, one with period 20ms and high priority and the other with period 10 ms and medium priority.
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RUN[temp>10]/{o2=1}





ENGINE_STOP/{s1=0;o2=0}





TICK/{s1++}





ENGINE_START [s1>10]





TICK





on





started





init








M1








ERROR





RESET





STOP/{o1=0}





Error


en:stop_all(); o1=0; o2=0;


du:blink_leds();








Running





START/{o1=1}





Init


en:init_all(); o1=0; s1=0;


ex:clean_all()
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